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Comment ID 303 for SB
The structure of the interleaver is not clear, the process of interleaving should be illustrated.
Proposed Change
Insert the figure to show the corresponding process of interleaving.
20.2.3.4 Interleave

The interleaving process consists of two permutations. The index of the coded bit before the first permutation shall be denoted as k; i shall be the index after the first and before the second permutation; and j shall be the index after the second permutation, just prior to modulation mapping. The coded bits are written at the index given by j, and read out sequentially. The index i is defined as follows:
      i = (Ncbps / Nrow) ⅹk mod(Nrow) + floor(k / Nrow)
where

     Ncbps is the number of coded bits per symbol.

     k =0,1,2,...,(Ncbps - 1)

     Nrow is 20 

The process of interleaving for the first permutation is illustrated in the following Figure 180.
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Figure 180 -The process of interleaving for the first permutation
The index j is defined as follows:

      j = s ⅹ floor(i / s) + [i + Ncbps - floor((Nrow ⅹ i) / Ncbps)]mod(s)

where

     Ncbps is the number of coded bits per symbol.

     k =0,1,2,...,(Ncbps - 1)

     Nrow is 20 

and

s = max(Nbpsc/2, 1)
where Nbpsc is the number of bits per subcarrier, and has the values 1, 2, and 4 for BPSK, QPSK, and 16-QAM, respectively. Ncbps is defined as follows: 100 bits for BPSK, 200 bits for QPSK, and 400 bits for 16-QAM
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